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EXAMINATION #1
	Part A

Questions 1 to 10
4 marks or 0 marks


D
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	Part B

Questions 11 to 16
4 marks each


Example of an appropriate solution

2.
In a circle, an inscribed angle measures one half of its intercepted arc.

3.
In a circle, the measure of the central angle is equal to the degree measure of its intercepted arc.
2 marks for each justification
The degree measure of arc 
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4 marks or 0 marks

x = 4
4 marks
x = 4 or x = -9
2 marks

Example of an appropriate solution

	P(x) =
	25|x ( 150| ( 1200

	0 =
	25|x ( 150| ( 1200

	1200 =
	25|x ( 150|

	48 =
	|x ( 150|

	x ( 150 =
	48
or
x ( 150 = -48

	x =
	198

x = 102


198 ( 102 + 1 = 97

The company had either no profit or a loss for 97 days.

Note:
Accept also 198 ( 102 = 96   ( 96 days.

4 marks for an appropriate method and the correct answer.

3 marks for an appropriate method and finding both zeros of the function.

2 marks for an appropriate method and finding one zero of the function.

Example of an appropriate solution

	csc2x + sec2x =
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	2 marks
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	Part C

Questions 17 to 25
     4 marks each
No marks are to be given if work is not shown. Examples of correct solutions are given.

However, other acceptable solutions are possible.


Example of an appropriate solution


[image: image8.wmf] 

x

 

A(0, 10)

 

B(0, 40)

 

C(50, 20)

 

D(60, 10)

 

(70, 0)

 

(100, 0)

 

(0, 70)

 

y

 


	Vertex
	Weekly Revenue = 400x + 420y

	A(0, 10)
	$4200

	B(0, 40)
	$16 800

	C(50, 20)
	$28 400

	D(60, 10)
	$28 200


Answer:
The company must sell of 50 gas and 20 electric mowers to maximize its revenue.
Note:
Students who use an appropriate method to graph the polygon of constraints have shown they have a partial understanding of the problem.

Example of an appropriate solution
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Vertex (150, 40)

 10 = 
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 60 = |x ( 150|

 60 = x ( 150
-60 = x ( 150

   x = 210
   x = 90

P1(90, 10)
P2(210, 10)
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Answer:
To the nearest tenth of a metre, the total length of the power line connecting the three towers is 134.2 m.
Note:
Allot 3 marks to students who appropriately and correctly solved the problem using y = 0 and obtained the answer 178.9 cm.

Students who use an appropriate method to determine the coordinates of the vertex and the coordinates of points P1 and P2 have shown that they have a partial understanding of the problem.

Example of an appropriate solution

Mario's investment
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Tina's investment


A = P(1 + r)t

A = 3000(1 + 0.06)14.2

A = 3000(1.06)14.2

A = 6862.22

Answer:
By the time that Mario has doubled his investment, Tina will have accumulated $6862.22.

Note:
Do not penalize students who did not round t or rounded inappropriately, obtaining answers ranging from 6862 to 6865.

Students who used an appropriate method to determine the value of t have shown they have a partial understanding of the problem.

Example of an appropriate solution

Trigonometric Function


g(x) = 4 cos 
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Amplitude = 4
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Hyperbola
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a = 4.5, b = 4

Answer:
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Note:
Students who use an appropriate method in order to find the value of the zero which corresponds to the value of parameter a in the equation of the hyperbola have shown a partial understanding of the problem.
Example of an appropriate solution

The length of a leg of a right triangle is the geometric mean (mean proportional) between the length of the hypotenuse and the length of the adjacent segment of the hypotenuse formed by the altitude to the hypotenuse.
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13.49 + 22.23 = 35.72 metres

Answer:
Rounded to the nearest tenth of a metre, Mary swims a total of 35.7 metres.
Note:
Do not penalize students who do not round to the nearest tenth of a metre.

Students who use an appropriate method in order to find 
[image: image24.wmf]BC

 or 
[image: image25.wmf]CD

 have shown they have a partial understanding of the problem.

Example of an appropriate solution

	Statement
	Justification
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	An angle whose vertex is outside the circle measures half the difference of its intercepted arcs.
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	m ( DFE = 20(
	An inscribed angle is equal to half its intercepted arc.

	m ( FDO = 20(
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 and 
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 are equal radii and the angles adjacent to the congruent sides of an isosceles triangle are equal.


Answer:
The measure of ( FDO is 20(.

Note:
Students who use an appropriate method to determine 
[image: image31.wmf] 
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 with appropriate justification have shown they have a partial understanding of the problem.


Students who use an appropriate method to determine the measure of ( FDO but have not justified their work have shown they have a partial understanding of the problem.

Example of an appropriate solution

Note: Accept answers calculated using either ( or s.

Original set
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 = 71.35
or
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 = 71.35


( = 19.05

s = 19.55
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Revised set


n = 19
n = 19
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 = 74.58

[image: image37.wmf]x

 = 74.58


( = 13.17
s = 13.53
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Answer:
The new minimum mark required to win the prize was 94%.

Note:
Do not penalize students who have not rounded their final answer or who have rounded incorrectly.


Students who use an appropriate method to find the required Z‑score (1.5 or 1.47) have shown they have a partial understanding of the problem.

Examples of an appropriate solution

Centre of the circle is (8, 6)

Equation of one of the tangents

Slope of radius to point of tangency (9, 4)
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Slope of tangent at (9, 4) is therefore 
[image: image41.wmf]2
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Thus, the equation of the tangent at (9, 4) is y = 0.5x ( 0.5

Coordinates of the corner (i.e. the vertex of the absolute value function)

The x-coordinates of the corner point is 8, (symmetry).


y = 0.5(8) ( 0.5


   = 3.5

Corner point: (8, 3.5)

Minimal distance between the disc and the corner

The distance from the centre of the circle to the lowest point on the circle is the radius, which equals 
[image: image42.wmf]5

 cm.

The distance from the centre of the circle (8, 6) to the corner (8, 3.5) is


6 ( 3.5 = 2.5 cm.

Therefore the minimal distance separating the disc and the corner is 2.5 ( 
[image: image43.wmf]5

.
Answer:
To the nearest tenth of a centimetre, the minimal distance separating the disc and the corner of the room is 0.3 cm.
Note:
Students who use an appropriate method to determine the equation of one of the walls (i.e. tangents), or the equation of an equivalent absolute value function, have shown they have a partial understanding of the problem.

Example of an appropriate solution

Parabola


 x2 = -20y

4c = -20


  c = -5

The directrix has equation


y = 5

Absolute value function
y = a|x ( h| + k

(h, k) = (0, 10)
(
y = a|x| + 10


Point (6, 5)
(
5 = a|6| + 10




a = 
[image: image44.wmf]6
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Base


x2 = -20y

y = -12 (
x2 = -20(-12)


x2 = 240


 x = ± 
[image: image45.wmf]240



 x = ± 15.5 (rounded to nearest tenth)


y = 
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  x = ± 26.4


[image: image48.wmf]AB
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 = 26.4 ( 15.5 = 10.9 m

Answer:
To the nearest tenth of a metre, the width of the base 
[image: image49.wmf]AB

 is 10.9 m.

Note:
Students who use an appropriate method to find an equation for the absolute value function (or a linear function corresponding to one of the branches of the absolute value function) have shown they have a partial understanding of the problem.

EXAMINATION #2
	Part A

Questions 1 to 10
4 marks or 0 marks


D

B

C

C

B

B


D

D

A

D

	Part B

Questions 11 to 16
4 marks each


a)
Rule: P = 40x + 20y

( 2 marks
All or nothing

b)
Points: A, B, C, D

( 2 marks
All or nothing

Note:
Do not penalize students who did not identify point A as one of the points.

a)
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( 2 marks for graph

( Deduct
1 mark for incorrect vertex

1 mark for incorrect initial value

1 mark for exceeding domain, to a maximum of 2 marks

b)
y = 
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Answer:
The rule of the function is y = 
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( 2 marks for an appropriate method and correct answer

( 1 mark for an appropriate method only

Example of an appropriate method

f(x) = 3(4)x ( 1 ( 6
1 mark

set y = 0

	3(4)x ( 1 =
	6
	(
	1 mark

	4x ( 1 =
	2
	
	

	(22)x ( 1 =
	2
	
	

	(22)x ( 2 =
	21
	
	


	( 2x ( 2 = 1


x = 
[image: image56.wmf]2
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Interval in which the function is positive: 
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1 mark

Note: Accept x ( 1.5

Example of an appropriate method
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Example of an appropriate method

	log3 (x + 2) + log3 x =
	1
	

	log3 (x2 + 2x) =
	1
	1 mark

	x2 + 2x =
	3
	1 mark

	x2 + 2x - 3=
	0
	

	(x + 3) (x ( 1) =
	0
	

	x = -3 or
	x = 1
	1 mark

	x =
	1 only
	1 mark


Example of an appropriate method
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2 marks for graph drawn correctly

	Ext.
	Profit = 6.5x + 10y
	( 1 mark

	(10, 5)
	$115.00
	

	(10, 20)
	$265.00
	

	(40, 5)
	$310.00
	

	
	
	

	(35, 10)
	$327.50 MAX PROFIT
	
1 mark


Answer:
The maximum revenue the gondola service can make is $327.50.
	Part C

Questions 17 to 25
     4 marks each
No marks are to be given if work is not shown. Examples of correct solutions are given.

However, other acceptable solutions are possible.


Example of an appropriate method

Given

TELNORE = 
[image: image63.wmf]k

h

+
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x

a


Vertex at (60, 250)

t(x) = 
[image: image64.wmf]250
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Sub in (0, 100)

	100 =
	
[image: image65.wmf]250
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	-150 =
	60a

	a =
	-2.5


( TELNORE’s Stock Price = 
[image: image66.wmf]250
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If same price after 90 weeks

t(90) = 
[image: image67.wmf]250
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t(90) = 175

BU&U is linear (constant rate)

B(x) = mx + b


b = 40 (given)

M = 
[image: image68.wmf]0
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B(x) = 1.5x + 40

	( t(130)
= 
[image: image69.wmf]250
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	B(130)
= 1.5(130) + 40

	

= 75
	
= 235


Difference

235 ( 75 = 160

Answer:
The difference in the price of their stock shares after 130 weeks is $160.

Example of an appropriate method

Finding the value of b


[image: image70.wmf]60
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Rule:
y = 3000 cos
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Answer:
The satellite is 1500 km North of the equator.

Example of an appropriate method

Age of the van after 3 years

Let r =
rate of depreciation

9615 =
28 000 x r3
r3 =

[image: image73.wmf]000

28

9615

 = 0.343

r =

[image: image74.wmf]3

343

 = 0.7

Let t =
number of years of depreciation

4000 =
28 000 ( 0.7t
0.7t =
0.1429

Taking Logs: t log 0.7 = log 0.1429

t =

[image: image75.wmf]÷
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 = 5.45

Answer:
The van will be 5.5 years old, to the nearest tenth of a year.

Note:
Do not penalize students who did not round off their final answers or who made a mistake in rounding.

Example of an appropriate method

	y =
	2 sin
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	y =
	1

	2 sin
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	x = 
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Answer:
The points of intersection are: 
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Note:
Algebraic or graphic solutions are acceptable.

Do not penalize students who wrote only the x coordinates, i.e., 
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Example of an appropriate method

	Given:
f(x) = 
[image: image95.wmf]4
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g(x) = 
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g(x) = 
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g(8)
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Answer:
The rule of g(x) is 
[image: image108.wmf]2
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Accept also g(x) = 
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Example of an appropriate method
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	(m 
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)2 + (m 
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)2 ( 2(m 
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)cos A

	16.82 =
	122 + 122 ( 2(12)(12)cos A

	cos A ( 
	0.02

	A ( 
	88.9°


Answer:
Angle BAC measures 88.9°. (Accept 89()

Note:
Students who have found the measure of segment BC to be 16.8 cm have shown partial understanding of the problem.

Example of an appropriate method

	m 
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	m 
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	In ( BEC (right triangle)
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	=
	47.292 + 93.472

	=
	2236.34 + 8736.64

	(
	10 972

	m 
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	radius =
	
[image: image139.wmf]2
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Answer:
The length of the radius is 52.4 cm.

Note:
Do not penalize students who did not round off their final answer or who made a mistake in rounding it off.

Example of an appropriate method
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Equation of ellipse
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The center is the origin:

length of major axis: 
[image: image142.wmf]625

 = 25

length of minor axis: 
[image: image143.wmf]400

 = 20

c = 
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  coordinate of focus (15, 0)

Horizontal translation of circle = 15 units to the right

(since the center of the circle is directly above the focus.)


[image: image145.wmf]FT

 is tangent to the circle at point T

( m ( CTF = 90°; and m 
[image: image146.wmf]CF

 = 5 units

(vertical translation of 5 units upwards)

Answer:
The equation of the circle is (x ( 15)2 + (y ( 5)2 = 9.
Example of an appropriate method

	Whelan High School

	Mean =
	76%

	Std. Deviation =
	6.44

	James’s Z-score is
	0.60

	( 0.60 =
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	=
	80% (James’s Mark)


	Goodwood High School

	Mean (
	68.18%

	Std. Deviation =
	9.51 (Population SD) or 9.738 (Sample SD)

	Mary’s mark is
	80%

	( Mary’s Z-score =
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	=
	1.24

or
1.23


Answer:
Since Mary obtained a higher Z-score than James, then she definitely should be accepted into the program before he is considered.

EXAMINATION #3

	Part A

Questions 1 to 10
4 marks or 0 marks


D

C

D

A

A

C

B

B

B

D

	Part B

Questions 11 to 16
4 marks each


	Statement
	Justification

	2.
m 
[image: image150.wmf] 

CD

 

 = 50(
	Two parallel chords intercept isometric arcs of circles.



	3.
m ( CBD = 25(
	The measure of an inscribed angle is one-half the measure of its intercepted arc.


2 marks for each correct answer.
To the nearest tenth, the area of triangle ACD is 20.1 cm2.
4 marks or 0 marks
	An equation that represents the ellipse is
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 or equivalent.
	4 marks or 0 marks


The class average in Julie's class was 77.
4 marks or 0 marks
Example of an appropriate solution
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To the nearest tenth, Johnny will have his ant colony for 23.7 months.

Do not penalize students who rounded their answer incorrectly.

4 marks for an appropriate method and the correct answer.

2 marks for finding an appropriate equation to solve the problem.

Example of an appropriate solution
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Note:
Other solutions are possible.

	Part C

Questions 17 to 25
     4 marks each
No marks are to be given if work is not shown. Examples of correct solutions are given.

However, other acceptable solutions are possible.


Example of an appropriate solution
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Correlation coefficient
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(Accept a reasonable range of measurements.)

Using a graphing calculator, r = 0.85

Since there is a strong positive correlation, the coach can assume that if he looks for tall players on his team, they are likely to score more goals.

Note:
Students who correctly find the correlation coefficient have shown they have a partial understanding of the problem.

Example of an appropriate solution

	x: number of 48-passenger buses

y: number of 32-passenger buses

Constraints
1.
x ( 2

2.
y ( 2

3.
x ( 6

4.
48x + 32y ( 384

5.
48x + 32y ( 480

Objective Function
Minimize C = 200x + 140y
	[image: image157.wmf] 
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	Corner Points
	Objective Function
	Cost

	(2, 12)
	200(2) + 140(12)
	$2080

	(2, 9)
	200(2) + 140(9)
	$1660

	(6, 3)
	200(6) + 140(3)
	$1620

	(6, 6)
	200(6) + 140(6)
	$2040


Answer:
The activity director should order six 48-passenger buses and three 32-passenger buses.

Note:
Students who use an appropriate method to graph the polygon of constraints have shown they have a partial understanding of the problem.

Example of an appropriate solution

Points (0, 35) and (2, 51). Rate of change:
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Since the absolute value function opens down, parameter a = (8. Parameter k = 95 (maximum value). Therefore:

f(x) = (8|x ( h| + 95

For point (0, 35)
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From the graph, we choose h = 7.5.
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Negative solution is rejected, so x = 17.5.

Answer:
The helicopter is at a height of 15 m after 17.5 minutes.
Note:
Students who use an appropriate method to find the equation of the absolute value function have shown they have a partial understanding of the problem.

Example of an appropriate solution

	Statement
	Justification

	m 
[image: image161.wmf] 

EF

 

 = 40(
	The measure of an inscribed angle is one-half of the measure of its intercepted arc.



	m ( EOF = 40(
	In a circle, the measure of the central angle is equal to the degree measure of its intercepted arc.



	m ( DOC = 40(
	Vertically opposite angles are isometric.



	m 
[image: image162.wmf] 

DC

 

 = 40(
	In a circle, the measure of the central angle is equal to the degree measure of its intercepted arc.



	m ( CBD = 20(
	The measure of an inscribed angle is one-half of the measure of its intercepted arc.


Note:
Students who use an appropriate method to determine m ( EOF with appropriate justification have shown they have a partial understanding of the problem.

Students who use an appropriate method to determine the measure of ( CBD, but have not justified their work, have shown they have a partial understanding of the problem.

Example of an appropriate solution

In triangle ABC, using the mean proportion theorem,
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Choosing axes with origin at Point A,
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Answer:
To the nearest tenth, the glass roof touches the wall of the hotel at a height of 11.7 m.
Note:
Students who use an appropriate method to find 
[image: image167.wmf]AC

m

, have shown they have a partial understanding of the problem.

Example of an appropriate solution

For the ellipse, a = 10, b = 20, so the equation is 
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For y = c:
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Perimeter

4(17.32) + 4(5) ( 89.3 m

Answer:
To the nearest tenth, the perimeter of the outside of the walkway is 89.3 m.
Note:
Students who use an appropriate method to find the value of parameter c have shown they have a partial understanding of the problem.

Example of an appropriate solution

	For the circle with centre O,
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	For the parabola, parameter
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Equation of the parabola

x2 = 4cy
x2 = 20y
	The height of the rocker
	= 2(5)

= 10 dm


For y = 10,

x2 = 20(10)

x2 = 200

 x = ± 14.14 dm

Answer:
To the nearest tenth, the width of the rocker is 28.3 dm.

Note:
Do not penalize students who rounded their answers incorrectly.

Students who use an appropriate method to find the equation of the parabola have shown they have a partial understanding of the problem.

Examples of an appropriate solution

Hyperbola

If x = 3.5


[image: image173.wmf](

)

62

.

8

25

.

74

0625

.

2

36

1

36

4

5

.

3

1

36

4

2

2

2

2

2

2

±

»

=

=

=

-

=

-

y

y

y

y

y

x


If x = 10
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For the ellipse

a = 4 and b = 8, so the equation is 
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If x = 3.5
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Total height of the trophy

29.39 + 8.62 + 3.87 + 8 cm = 49.88 cm.

Answer:
To the nearest tenth, the total height of the trophy is 49.9 cm.
Note:
Students who use an appropriate method to find the appropriate lengths associated with either the hyperbola or the ellipse have shown they have a partial understanding of the problem.

Example of an appropriate solution
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Solutions:
t = 1.01   or
t = 1.01 + 12.4

  = 13.41 hours

t = 8.99   or   t = 8.99 + 12.4

  = 21.39 hours

Answer:
The ship can enter the harbour from 1.01 to 8.99 and from 13.41 to 21.39 hours after midnight.
Note:
Do not penalize students who round their answers incorrectly.

Students who use an appropriate method to correctly find the reference angle (2.02R) have shown they have a partial understanding of the problem.

EXAMINATION #4

	Part A


Questions 1 to 13
4 marks or 0 marks

D




     C

A




     D

C




     B

C




     C

B




     A

B




     B

B

	Part B


Example of an appropriate solution

	Zeros


0 = -2|-2x ( 5| + 6


(
|-2x ( 5| = 3


(
-2x ( 5 = 3
or
-2x ( 5 = -3



x = -4
or
x = -1

The distance between the points (-4, 0) and (-1, 0) is:

(-1) – (-4) = -1 + 4 = 3
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Answer
The length of the base of the triangle is 3 units.

Example of an appropriate solution

	cosec x ( sin x =
	cot x • cos x
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 • cos x =
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	cot x • cos x =
	cot x • cos x


Example of an appropriate solution

4 sin x ( 1 = 2 sin x ( 2  for  x ( [0, 2(]

	(
	4 sin x ( 2 sin x =
	-2 + 1

	
	2 sin x =
	-1

	
	sin x =
	
[image: image184.wmf]2
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(
x = 
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 and x = 
[image: image186.wmf]6

11

p


Answer
The exact values of x are 
[image: image187.wmf]6
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 and 
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, x ( [0, 2(].

Example of an appropriate solution

x : number of daisies sold

y : number of roses sold

Constraints


x ( 0, y ( 0

	x + y (
	150

	y (
	100

	x (
	2y

	x + 2y (
	120


	Polygon of constraints
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Objective function


Z = 0.40x + 1.10y
	Vertex
	Coordinates
	Profit ($)
	

	A
	(0, 60)
	66.00
	

	B
	(0, 100)
	110.00
	

	C
	(50, 100)
	130.00
	(

	D
	(100, 50)
	95.00
	

	E
	(60, 30)
	57.00
	


Answer
Lyne should sell 50 daisies and 100 roses.

Note: Do not penalize students who did not use a polygon of constraints to solve the problem.

Example of an appropriate solution

	Equation


f(x) = a|x ( h| + k
Value of the parameters


(h, k) = (15, 22 000)

Maximum profit in the middle of the month


( f(x) = a|x ( 15| + 22 000

Value of a using the ordered pair (0, -8000)


-8000 = a|0 ( 15| + 22 000


( a = -2000


( f(x) = -2000|x ( 15| + 22 000

Zeros of the function


0 = -2000|x ( 15| + 22 000


( |x ( 15| = 11  (  x = 4   or   x = 26
	
[image: image190.wmf] 
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Answer
Peter made a profit between April 4 and April 26.

Example of an appropriate solution

Exponential model


f(x) = abx
where
a = average cost the first year (initial value)

b = base

x = number of years

Value of b
Using the years 1990 and 1991   where   x = 1


184.50 = 180b1

( b = 1.025

Average cost in the year 2000   where   x = 10


f(x)
= abx

f(10)
= 180(1.025)10


= 230.42

Answer
The average cost of a cart of groceries in the year 2000 was $230.42.

Example of an appropriate solution

Equation


f(t) = a sin b(t ( h) + k
Value of the parameters


Amplitude = 
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where   p represents the period


h = 2
The same curve is translated 2 units to the right.


k = 1
The curve is translated one unit upwards.

Equation


f(t) = 2 sin
[image: image193.wmf]4

p

(t ( 2) + 1

The height of the wave when t =3 seconds


f(3) = 2 sin
[image: image194.wmf]4

p

(3 ( 2) + 1 = 
[image: image195.wmf]2

 + 1 ( 2.41

Answer
After 3 seconds, the height of the wave to the nearest hundredth of a metre is 2.41 metres.

Note:
Do not penalize students who did not round the answer.

Example of an appropriate solution

Exponential equation


C(t) = Co(1 + i)t
	Rate of interest for Isabella


3300 = 3000(1 + i)1


1.1 = (1 + i)


0.1 = i

( A rate of 10 %
	Rate of interest for Claude


4320 = 4000(1 + i)1

1.08 = (1 + i)


0.08 = i

( A rate of 8%

	C(t) = 3000(1.1)t
	C(t) = 4000(1.08)t


In which year?

	3000(1.1)t =
	4000(1.08)t

	(
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	t =
	15.68


Answer
The value of their investments will be the same in the 16th year.

Example of an appropriate solution

Figure
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Equation


x2 = 4cy
To find c using the point (20, -16)


202 = 4 ( c ( (-16)

(
     c = -6.25

and
    x2 = -25y
Length of a reinforcement beam

Using the point (x, -6), half of the length is found


x2 = -25y

x2 = -25(-6)

(
 x = 
[image: image200.wmf]150

 ( 12.247

Length of the beam


2x = 24.49

Answer
To the nearest tenth of a metre, the length of the reinforcement beam is 24.5 meters.

Note:
Do not penalize students who did not round the answer.

Example of an appropriate solution
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	Statement
	Justification

	1.
	Join BC
	To obtain triangle ABC.



	2.
	(ABC is right-angled at B
	Any angle inscribed in a semi-circle is a right angle.



	3.
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	4.
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	In a right triangle, the length of the hypothenuse multiplied by the length of the altitude to the hypothenuse equals the product of the lengths of the sides of the right angle.


Answer
The length of segment BP is 4.8 cm.

Example of an appropriate solution

(ABC is right-angled at C (inscribed angle in a semi-circle)


[image: image204.wmf]BC

m

 = 6 m
(the side opposite the 30( angle in a right triangle measures half of the hypothenuse

	(
triangle BOC is equilateral (3 radii)

(
m (BOC = 60(
Area of the sector BCO
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Area of equilateral (BCO


The height CD = 6 ( sin 60( = 5.20 m

(
A( = 
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Area of shaded region = area of sector ( area of equilateral triangle
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Answer
To the nearest hundredth of a square metre, the area of the shaded region is 3.25 m2.

Note:
Do not penalize students who did not round the answer.

Example of an appropriate solution

Math 103
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General chemistry



[image: image212.wmf]x
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( = 15.27
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Answer
Jeremy had a better result in Math 103 since his mark is 0.38 standard deviations above the mean, while in general chemistry his mark is 0.26 standard deviations above the mean.
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